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INSTRUCTIONS

· Answer all questions in the paper.
Questions (50 Marks)
1. a) Define the term osmosis                                                                                                                    (1 mark)
    b) Explain how drooping of leaves on a hot sunny day is advantageous to a plant                            ( 2 marks)

   c) Explain the difference between wall pressure and turgor pressure                                                  (2 marks)

2. Explain each of the following statements
    a) Proteolytic enzymes in the gut digest dietary proteins but do not digest the wall of the gut.     (2 marks)

b) All arteries carry oxygenated blood except pulmonary artery                                                    (2 marks)

3. a) Distinguish between haemagglutination and blood clotting                                                       (2 marks)

   b) Differentiate between aorta and vena carva                                                                           (2 marks)
   c) Give two reasons as to why clotting of blood is important                                                    (2 marks)

4. The figure below shows a diagram of a section through the heart.
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(a) On Figure
(i) Label an atrium; 









(1mark)
(ii) Label the pulmonary vein; 








(1mark)
(iii) Shade in the chambers that contain deoxygenated blood. 




(1mark)
(b) Explain why the wall around chamber Z needs to be thicker than that around chamber Y.
(2marks)

(c) Name the blood vessel that delivers blood to the muscles of the heart.



(1mark)
(d) State two preventive actions a person could take to reduce the chance of a heart attack.
(2marks)

5. People living in high altitudes have a higher  red blood cell count and more haemoglobin than people living in low altitude areas. Suggest a reason for these adaptations                                                               (3 marks)
6. List three  structural differences between arteries and veins                                                             (3 marks)

7. State how desert plants are  adapted to reduce the rate of  transpiration                                          (4 marks)  

8. The enzyme pepsin and trypsin are secreted as inactive precursors:

       a) What are the names of the precursors                                                                                     (2 marks)  

       b) Why are they secreted in an inactive form                                                                             (2 marks)

9. The open circulatory system is said to be less efficient than the closed system. Explain why insects are very active despite having an open circulatory system                                                                                  (2 marks)
10. Explain how a bee sting can easily lead to death of  a person                                                          (3 marks) 


11. Describe the structural factors that affect the rate of transpiration                                                  (8 marks)
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